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1. When Liza Witson, the sales manager of Acme Corparation, revicws actusl sakes and cinvares them 1o the
annuel forecast, she iz dnmungmting e management function of
£ plansstg {5 l=zding (Y courolling (D) Grpanizinge

5. Compared io the small business manager, the macagar it a large business will
{A) roly on mare direct observation for the control function '
(B) gpend greater efforts to plan for performance improvement and losk for business epportunilics
(C) delermine plans in 4 saore fonnalized, consisient manner
{I place greater emphasis on e spokespersan mle

3.  hfanapement-by-ohjootives
fAY uses & “top-down” goal seiing process
() wses goals that indicale e general direction desiead
{3 has a lierarchy of obj eetives thag ate closely linked berwesn organizaticnal levels

{TN was fivet proposed in dhe lale 1970

4, ‘The'zem-based budgot
[A) requires managers 1o justify all proposed expendituves
(R} can pravide continuity by sutomatically expanding budgets over e years
(Cy telics heavily on an extension of the prior budgel
£y wis developed by the Rand Coiporation far the Alr Force

5, After fhe manager hos deretined the tiwe estimates for gach petivity in & PERT network,
(A)  dee order of eventz must be detertmined {B]) the critical path ¢an be detemninsd
()  adiagram of the flaw of activities tan be completed () = fundiog request i prépared

6. After an allernstive has been seleated, Qe dacizion maker
) evalates the decizion's offactivensss (B st weigh the criteria
() is dwouph with the decision-making process {I*} mogt gee that the decision is put inlo octioh

7. The MAIM problem to be sxpected when the wnity of command principle 13 ignored is that
{A) employees have pateniial rowble coping wilh conftcting prioritics and demands
(D) supervisors eannot kaep abreast of what 2] their suboydinetes are doing
{C) decision meking is slow '
(D) there is tot encugh floxibility

8. Which of the fallowing i3 TRUE with regard 10 hotizontal organizations?
(A} Hortzontal oyganizatigng arc just flatter crgdnizdlions.
By When teanis ase put in place, managers must B new ways to contique to base cmployee rewards on
individual pecformaanas.
(C) Teatt members will be rewarded for mmstecing muiaple skills.,
(DY) Supervizary evaluations will be the only wviatuations

,  Which form of racroitment threatans work: foree diversity? _
{4) advertisements (I3} intemial seavches (03 sehoal placement (O employes rofemals
14, Tl BEQC madel smempis o minimize
{A) ecamying costs © (B) ocdening costs {C) variable cosis (0 total cosls
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i1, When degree of dezcntralization is bigl, the centool recomimendation is
{A} informal {E] farmal (0 nersassd numbar {0 reduced number

12, Which one of the folfowing is & ivgiene factor?
{A)  responsibility (B growth {5 company policy (TN achievernent

i3. Wher the working cnvironment is chiaractetized oy gricvances, waming letters, suspension, and work
slomderwms, Fiedler wonld
(A) recomumentd an emploves-oreniad leader
(B) recotimend 4 lask-onented [eadet
(C) labal Lhe siluation a= poor loader-membey relaons
(I label the siteition az week position-power

14, Which of the following doos VOT suggest the need Ror condliet stimuladion?
(44} high employee tumover (B) high resitlance 13 change §C)  rewrards Jinked to populadty
L) econcem aboul hurting others” feelings

15. With which type of job would 2 person with an exiremely high authotariun personadity likely to be
compatible? )
{AY doctar (B collepe instrucdor {C]  personnel ditector (0 nklitacy officer

16, When managers immsl communicate with subordivates in such a way that e chinne] they choose is
inappropriate, or the message iz relayed it 100 complex a fornat, or Some other communication variahle
Interferes with an optimal Wansmiszion of meaning, the cxchange will be lizmited By
(A) noize, {B} foedback. () decoding, (0] cmpathy.

17. Which af the foilowing are not considered to be discrete needs by Aldecfer but are considersd as sech by

wlasiow? .
(M) Existence nesds. {8  Status meads, (T} Growik nocds. (D) Relatedness needs,

L5, Workers oflen voluntarily join groups because
(A} scime tagks cannot be secomplished by lone individoals.
{I¥) proups ¢an provide organizaicotad sabdlily.
(T} groups can safisty workers” sociul needs.
(L¥) groups are an efficienl meins for managing individus] bekavior.

19. Theory £ roanagermetil 15 elosest to whicl of the four systems that are containsd in the Likert modeal?
{A) Bystem 3. (By  Swslam E. Sy Sysiem d, {0 Swgtemn 2,

20, The advantages of a product layoul approach to operations is to the disadvantages of this methad as
[(A) reduced product damage frot moving is 1o worker monctony.
{B] asunplification of tacks s to lowy equipment ueilization,
{Z) reduced materials handling is o worker monatony.
(D} reduced product damage from Tagving is 19 a lack of lining efficicncy.

= = Discuss the uce of beneh markiog, scenario planning, sad the use of staff planners az ways of
making the planning effott more effective in organizations, (15%5)
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= -~ What is the importance o managers of grining @0 understanding of the cccupational, ethnic/racial,
geperptional and gender subcultarcs that existing organizetignz?  What impact do these culbores
have on orpanizational culture and s perfommanes sonsequences? (13%9)
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